SUPER PETREL LS AIRCRAFT SPARE PARTS

1 FEB 2024 PRICING

Bilge Pump SE-113.138-1 SCODA STRAINER, BILGE PUMP 3.8 UN $16.74
Bilge Pump PB-620.006 MARINE RUL-CTL-35A SWITCH, BILGE PUMP AUTOMATIC 3.5 UN $65.00
Bilge Pump PB-620.005 MARINE RUL-PMP-25DA  |PUMP, 500 GPH 12V MODEL 25D 3/4" BILGE 3.5 UN $65.00
Brakes EXT-CTRL Scoda Brake/Rudder Control Extension Kit 4.6 $1,125.00
_|Brakes SE-520.022 SCODA CLAMPS WITH PADS, BRAKE 4.2 UN $431.29
Brakes PB-311.041 SCODA PAD, BRAKE 4.6 UN $109.20
Brakes PB-520.025-1 SCODA AXLE, MAIN LANDING GEAR 4.3 UN $146.43
Brakes PB-520.012 SCODA RESERVOIR, BRAKE FLUID 4.5 UN $11.49
Brakes PB-520.023 SCODA DISC, BRAKE 4.6 UN $165.88
Brakes SE-520.008 SCODA PEDAL, BRAKE RIGHT 4.6 UN $28.09
Brakes SE-520.007 SCODA PEDAL, BRAKE LEFT 4.6 UN $15.40
Brakes SE-520.042 SCODA CYLINDER/BOLT 4.6 $3.00
Brakes SE-520.043 SCODA CYLANDER/SUPPORT 4.6 $3.00
_|Brakes MP-900.064 MATCO MSCNNR4/035  |HOSE, 1/4" NYLON/foot MT $0.90
Brakes PI-520.024 MATCO MT-MC4A CYLINDER, HYDRAULIC BRAKE 4.2 UN $149.50
Cabin MSE-114.002 SCODA ACRYLIC, WINDSHIELD BLUE 1.0 UN $1,784.87
_|Cabin MSE-114.004 SCODA N/A ACRYLIC, DOOR BLUE LH 1.0 UN $970.40
Cabin SI-114.001 SPRUCE 05-28664 LOCK SET, DOOR 3.6 UN $68.52
Cabin SE-114.007-1 SCODA CANOPY LATCH LOCK TAB 3.6 $10.00
Cabin SE-114.060 SCODA HANDLE, DOOR SIDE 3.4 UN $58.65
Cabin PE-122.020 SCODA PIN, DOOR HINGE 34 UN $7.94
Cabin SE-114.070 SCODA LATCH, DOOR SIDE LOCK 3.6 UN $7.36
Cabin MSE-114.002-2 SCODA UN $1,784.87
_|Cabin MSE-114.003-2 SCODA UN $1,647.50
Cabin MSE-114.004-2 SCODA UN $1,647.50
Cabin SE-114.054 SCODA BUSHING, DOOR SIDE LOCK UN $4.43
Cabin SE-114.058 SCODA WASHER, DOOR SIDE LOCK UN $4.20
Cabin SE-114.047 SCODA FINISHING PLATE, DOOR SIDE LOCK UN $2.45
Cabin PI-114.001 SPRUCE 05-01179 SNAP VENT CC3251 UN $31.14
Cabin MP-900.453 SPRUCE 05-01200 STRIP, DOOR SEALING RUBBER UN $12.94
Controls Cs-8 TOSTEN CS-8 AIRCRAFT GRIP [SOFT TOUCH AIRCRAFT GRIP 37 UN $219.70
Controls SE-231.007-1 SCODA CABLE ASSY, RUDDER CONTROL 3.8 UN $44.01
Bilge Pump SE-113.138-1 SCODA STRAINER, BILGE PUMP 3.8 UN $16.74
Bilge Pump PB-620.006 MARINE RUL-CTL-35A SWITCH, BILGE PUMP AUTOMATIC 3.5 UN $65.00
| Bilge Pump PB-620.005 MARINE RUL-PMP-25DA | PUMP, 500 GPH 12V MODEL 25D 3/4" BILGE 3.5 UN $65.00
Brakes EXT-CTRL Scoda Brake/Rudder Control Extension Kit 4.6 $1,125.00
Brakes SE-520.022 SCODA CLAMPS WITH PADS, BRAKE 4.2 UN $431.29
Brakes PB-311.041 SCODA PAD, BRAKE 4.6 UN $109.20
Brakes PB-520.025-1 SCODA AXLE, MAIN LANDING GEAR 4.3 UN $146.43
Brakes PB-520.012 SCODA RESERVOIR, BRAKE FLUID 4.5 UN $11.49
Brakes PB-520.023 SCODA DISC, BRAKE 4.6 UN $165.88
Brakes SE-520.008 SCODA PEDAL, BRAKE RIGHT 4.6 UN $28.09
Brakes SE-520.007 SCODA PEDAL, BRAKE LEFT 4.6 UN $15.40
Brakes SE-520.042 SCODA CYLINDER/BOLT 4.6 $3.00
Brakes SE-520.043 SCODA CYLANDER/SUPPORT 4.6 $3.00
_|Brakes MP-900.064 MATCO MSCNNR4/035 |HOSE, 1/4" NYLON/foot MT $0.90
Brakes PI-520.024 MATCO MT-MC4A CYLINDER, HYDRAULIC BRAKE 4.2 UN $149.50
Cabin MSE-114.002 SCODA ACRYLIC, WINDSHIELD BLUE 1.0 UN $1,784.87
_|Cabin MSE-114.004 SCODA N/A ACRYLIC, DOOR BLUE LH 1.0 UN $970.40
Cabin SI-114.001 SPRUCE 05-28664 LOCK SET, DOOR 3.6 UN $68.52
Cabin SE-114.007-1 SCODA CANOPY LATCH LOCK TAB 3.6 $10.00
Cabin SE-114.060 SCODA HANDLE, DOOR SIDE 34 UN $58.65
Cabin PE-122.020 SCODA PIN, DOOR HINGE 3.4 UN $7.94
Cabin SE-114.070 SCODA LATCH, DOOR SIDE LOCK 3.6 UN $7.36
Cabin MSE-114.002-2 SCODA UN $1,784.87
Cabin MSE-114.003-2 SCODA UN $1,647.50
_|Cabin MSE-114.004-2 SCODA UN $1,647.50
Cabin SE-114.054 SCODA BUSHING, DOOR SIDE LOCK UN $4.43
Cabin SE-114.058 SCODA WASHER, DOOR SIDE LOCK UN $4.20
Cabin SE-114.047 SCODA FINISHING PLATE, DOOR SIDE LOCK UN $2.45
_|Cabin PI-114.001 SPRUCE 05-01179 SNAP VENT CC3251 UN $31.14
Cabin MP-900.453 SPRUCE 05-01200 STRIP, DOOR SEALING RUBBER UN $12.94




Controls Cs-8 TOSTEN CS-8 AIRCRAFT GRIP|SOFT TOUCH AIRCRAFT GRIP 3.7 UN $219.70
Controls SE-231.007-1 SCODA CABLE ASSY, RUDDER CONTROL 3.8 UN $44.01
_|Controls MP-900.179 SCODA STAINLESS STEEL CABLE 3/32" Rudder Cable 3.8 MmT $4.56
Controls SE-133.047-1 SCODA BOLT W/NUT, AILERON ROD ATTACHMENT 3.2 UN $31.77
Controls SE-232.007-1 SCODA SPRING, RUDDER PEDAL 4.4 UN $9.52
Controls SE-213.025-1 SCODA SHIM BUSHING, AILERON ROD ATTACHMENT 3.1 UN $4.95
Controls SE-122.021 SCODA BOLT,RUDDER CABLE ATTACHMENT 3.2 UN $1.85
Controls SE-232.008 SCODA BOLT, RUDDER PEDAL CABLE ATTACHMENT 3.2 UN $1.46
Controls SE-123.030 SCODA BOLT, ELEVATOR BELLCRANK ARTIULATION 3.2 UN $1.27
Controls SE-211.027 SCODA BOLT, ELEVATOR ROD TO CONTROL STICK ATTACHMENT 3.2 UN $1.92
Controls SE-211.034 SCODA BOLT, AILERON ROD ATTACHMENT 3.2 UN $0.96
Controls SE-123.013 SCODA BOLT, ELEVATOR ROD TO BELLCRANK ATTACHMENT 3.2 UN $1.87
Controls PI-232.019 SCODA RUDDER BAR MOUNTING CLAMPS 3.2 UN $45.00
Controls PE-232.005 SCODA PEDAL, RUDDER UN $261.68
Controls PE-232.007 SCODA PEDAL EXTENDER, RUDDER RH 4.6 UN $157.23
Controls PE-232.008 SCODA PEDAL EXTENDER, RUDDER LH 4.6 UN $157.23
Controls SE-211.017 SCODA ROD, CONTROL STICK CONNECTING UN $101.22
Controls PN-719.005-1 SCODA ROD END, THREADED MALE M8 EA 8 D-NIRO UN $88.62
Controls PN-719.001-1 SCODA ROD END, THREADED MALE EA 6 D-NIRO UN $72.73
Controls PN-719.009 SCODA ROD END, MALE 3/16" X SMM UN $72.44
Controls PN-719.004-1 SCODA BEARING, SPHERICAL PLAIN GE 6 UN $68.76
Controls PN-719.008 SCODA ROD END, FEMALE 3/16" X 5 MM UN $61.07
Controls PB-213.003 SCODA BEARING, SPHERICAL PLAIN UN $5.15
Controls MP-900.070 SCODA TUBING, NYLON 1/4" MT $2.39
Controls MP-900.070-1 SCODA TUBING, NYLON 11/12 6X4 BS5409-1/P175516 MT $1.72
Controls P1-213.002 MARINE CCX63309 CABLE, AILERON CONTROL UN $89.70
Controls PN-719.006 NSK 688-2RS BEARING, CONTROL ELEVATOR (688-2RS) UN $10.40
Cowling SE-411.015 SCODA PLATE, COWLING ANCHOR NUT ATTACHMENT 34 UN $16.72
Cowling SE-411.008-2 SCODA SS PLATE, COWLING ATTACHMENT RH 4.4 UN $3.47
Cowling SE-411.009-2 SCODA SS PLATE, COWLING ATTACHMENT LH 4.4 UN $3.47
Cowling MP-900.257-1 SCODA FABRIC, CERAMIC FIBER FIREPROOF 1,6MM THICK MT $86.44
Cowling MP-900.326 SCODA FOAM, 25 X 4MM SEALING MT $4.61
Cowling PN-721.005 SPRUCE 212-12N RECEPTACLE, 212-12N CAMLOC UN $9.93
Cowling PN-721.003 SPRUCE 2600-11S STUD, 2600 11S CAMLOC FASTENER UN $7.80
Cowling PN-721.008 SPRUCE 2600-55 STUD, 2600 55 CAMLOC FASTENER UN $7.80
Cowling PN-721.001 SPRUCE 2600-6S STUD, 2600 6S CAMLOC FASTENER UN $7.80
Cowling PN-721.002 SPRUCE 2600-7S STUD, 2600 7S CAMLOC FASTENER UN $7.80
Cowling PN-721.009 SPRUCE 2600-95 STUD, 2600 9S CAMLOC FASTENER UN $7.80
Cowling PN-721.007 SPRUCE 2600-SW-2 WASHER, 2600-SW-2 CAMLOC RETAINING UN $0.86
_|Decals SE-112.002-3 SCODA DECALS SET, ENGLISH PANEL UN $280.64
Electrical 13-201ST K-FOUR 13-201ST SWITCH, OFF-ON MOMENTARY K-FOUR 31 UN $26.86
Electrical MT-SACO1-RED SPRUCE MT-SACO1-RED |RED TOGGLE SAFETY SWITCH COVER 3.1 UN $6.50
Electrical PB-510.094 SCODA 12V MINI LAMP 3.6 UN $1.63
Electrical 194LL.BP2 SYLVANIA 194 LONGLIFE (2 LAMPS) 3.6 UN $5.82
Electrical 276-001 ALL ELECTRONICS 5MM RED LED ASSEMBLY 3.6 UN $1.50
_| Electrical 276-0271 BA9s LED Landscape BUILT IN RESISTOR GREEN LED 3.6 UN $1.27
Electrical PB-510.162 SCODA RELAY, LANDING LIGHT 5 PIN UN $10.09
Electrical MP-900.047 SCODA HOSE, TRANSPARENT FUEL 5SMM MT $4.25
Electrical PI-510.007-1 SCODA MASTER SWITCH 912iS Garmin Equiped 3.6 UN $90.00
Electrical PI-510.021 SPRUCE 11-03161 RELAY, 111-226 MASTER 3.1 UN $45.00
Electrical PI-620.004 SPRUCE 11-17965 ANTENNA, CI-105 COMMANT UN $197.60
Electrical PI1-620.009 SPRUCE 11-17970 ANTENNA, CI-101 COMMANT UN $189.38
Electrical 13-100ST K-FOUR 13-100ST SWITCH, OFF-ON SEALED K-FOUR UN $20.84
Electrical 13-200ST K-FOUR 13-200ST SWITCH, OFF-ON TRIPLE SEALED K-FOUR UN $25.81
Electrical 13-220ST K-FOUR 13-220ST SWITCH, DOUBLE POLE OFF-ON 1-ON 2 K-FOUR UN $28.05
Electrical 15-530 K-FOUR 15-530 GUARD, RED K-FOUR SWITCH UN $13.82
Electrical 15-532 K-FOUR 15-532 GUARD, YELLOW K-FOUR SWITCH UN $13.82
Electrical 15-534 K-FOUR 15-534 GUARD, BLACK K-FOUR SWITCH UN $13.82
Electrical 2TC2-25 SPRUCE 2TC2-25 CIRCUIT BREAKER, KLIXON 25A UN $25.05
Electrical 7277-2-1 SPRUCE 7277-2-1 CIRCUIT BREAKER, KLIXON 1A UN $25.44
Electrical 7277-2-2 SPRUCE 7277-2-2 CIRCUIT BREAKER, KLIXON 2A UN $25.44
Electrical 7277-2-3 SPRUCE 7277-2-3 CIRCUIT BREAKER, KLIXON 3A UN $25.44
Electrical 7277-2-5 SPRUCE 7277-2-5 CIRCUIT BREAKER, KLIXON 5A UN $25.44
Electrical 7277-2-7-1/2 SPRUCE 7277-2-7-1/2 CIRCUIT BREAKER, KLIXON 7-1/2A UN $25.44
Electrical 1BBS-12V-6AH SPRUCE IBBS-12V-6AH | BATTERY, 6A TCW INTEGRATED BACKUP UN $470.30
_|Empennage SE-123.016 SCODA BOLT, EMPENNAGE STABILIZER LOCK 372 UN $54.34
Empennage SE-123.080 SCODA TAB, AILERON/RUDDER UN $62.22
Empennage SE-123.057-1 SCODA ROD, ELEVATOR TRIM UN $43.84
_|ENGINE CCX63309 SCODA CABLE, EXTREEM ASM INDIV '09 BLACK 2.0 UN $59.79
ENGINE DCPRSE ROTAX SPARK PLUG 912iS .028 GAP 5.1 UN $5.50
ENGINE ROTAX SPARK PLUG 914UL 5.1 UN
ENGINE PI-610.093-1 ROTAX UN EGT PROBE THREADED K TYPE 5.1 $175.76
ENGINE 922237 ROTAX BENT SOCKET 45* 5.1
_|Engine Controls A-510-5 SPRUCE IGNITION KEY SET (2 position Master Switch) 3.6 UN $198.89
Engine Controls SE-414.037-2 SCODA CHOKE ASSY, 912ULS/914UL 3.5 UN $277.67
Engine Controls SE-413.37-2 SCODA CHOKE CABLE KIT 3.2 UN $13.00
Engine Controls SE-414.005 SCODA CABLES ASSY, 912ULS/914UL THROTTLE UN $272.43
Engine Controls SE-414.050 SCODA CABLES ASSY, 912IS THROTTLE UN $136.21
Engine Controls SE-414.038-1 SCODA SPRING, CHOKE UN $5.00
Engine Controls A-510-2 SPRUCE IGNITION KEY SET (4 position Mag Switch and Start) 912ULS-914UL UN $200.00
_| Engine Exhaust GA712-4D6K LOCKWOOD 32 UN $108.00
Engine Exhaust SE-412.002-2 SCODA SPRING, 53MM EXHAUST MUFFLER (12 COUNT) 43 UN $45.41
Engine Exhaust 712-32DWK SPRUCE WESTACH EGT PROBE K WIRE 3.2 UN $77.94
Engine Exhaust 10-00489 CPS 914UL SWIFT EGT PRECISION BAYONET TYPE PROBE 3.2 UN $50.00
Engine Exhaust SE-412.012 SCODA EXHAUST MUFFLER ASSY, 912iS UN $4,936.85
Engine Exhaust SE-412.005-3 SCODA EXHAUST MUFFLER ASSY, 912ULS UN $2,345.54
Engine Exhaust PE-411.006 SCODA FINISHING RUBBER, ENGINE COWLING MT $3.95







_|Engine Fuel KT-KUSO.05IN SCODA/KUS KFL 11A.0130.08 |FUEL HEADER TANK KUS SENDER RETROFIT KIT (included Probe) 3.0 $547.39
Engine Fuel FX375-MK ANDAIR FX375-MK FUEL FILTER, 3/8" ANDAIR CLEANABLE (912is only) 4.7 UN $125.00
Engine Fuel JEGS 06 Fitting ANDAIR 110051 912iS fuel in line fitting for ANDAIR FX375-M Filter 31 $8.50
Engine Fuel 874060 ROTAX 874060 FILTER, ROTAX 65 MICRON FUEL FILTER 5.1 UN $85.00
Engine Fuel MP-900.431 SCODA HOSE, 8 MM (5/16") SAE30R7 FUEL FT $10.15
Engine Fuel NA SUMMIT 162-551 HOLLEY 100 Micron Fuel Filter (in line) 3.1 $110.00
Engine Fuel NA ROTAX 874-060 912iS Fuel Filter 5.2 $85.00
Engine Fuel PN-720.018 SCODA STAINLESS STEEL EAR CLAMP 16.8 MM 3.2 UN $8.00
Engine Fuel 230206ERL SUMMIT 230206ERL FILTER, SCREEN TYPE EARLS FUEL FILTER (85 Micron inline) 3.1 UN $47.72
Engine Fuel 889696 ROTAZ 889696 FUEL PUMP ASSEMBLY 912iS 4.0 UN $1,755.00
Engine Fuel PI-530.013 SPRUCE 05-01033 VALVE, 4 PORT SHUT OFF 4.1 UN $45.00
Engine Fuel PB-430.002 SCODA PLASTIC "T" 1/4" 3.6 UN $11.70
Engine Fuel PB-113.004 SCODA CONNECTOR, FUEL SYSTEM DRAIN PUMP 33 UN $33.29

_|Engine Fuel PE-530.012 SCODA HOSE ADAPTOR, FUEL SYSTEM DRAIN 2.1 UN $15.41

_|Engine Fuel FBM1512 AEROQUIP FBM1512 FITTING, AEROQUIP SAE 372 ALUMINUM 3.1 UN $10.40

_|Engine Fuel MP-900.412 SCODA HOSE, 6,4AMM (1/4") SAE30R7 FUEL 5.5 FT $7.01
Engine Fuel MP-900.397 SCODA HOSE, 4,7MM (3/16") SAE30R7 HOSE 5.5 FT $6.32
Engine Fuel MC-900.047 SPRUCE FUEL HOSE 5SMM (TRANSPARENT) 5.5 UN $4.65
Engine Fuel SE-132.000-2 SCODA TANK ASSY, FUEL HEADER UN $1,074.45
Engine Fuel KT-KUSO.5IN SCODA RETROFIT KIT, FUEL HEADER TANK KUS SENDER UN $427.05
Engine Fuel PB-113.003 SCODA ELETRIC PUMP, FUEL SYSTEM DRAIN 5.1 UN $74.03
Engine Fuel MP-900.232 SCODA HOSE, 9,5MM (3/8") SAE30R7 FUEL FT $9.94

_|Engine Fuel SE-530.021-1 SCODA T CONNECTOR, 5/16" UN $27.17

_|Engine Fuel PI1-530.014-1 ANDAIR 05-00719 VALVE, 3/8" CK375-H ANDAIR CHECK UN $127.42

_|Engine Fuel PI1-530.003 SPRUCE 05-01869 VALVE, FUEL DRAIN UN $17.73

_|Engine Fuel KFL11A.0130.08 KUS USA KFL11A.0130.08 |SENDER, 0.5" RES KUS FUEL UN $97.50

_|Engine Intake RC-1624 K&N RC-1624 AIR FILTER, (912iS] 5.4 UN $76.38

_| Engine Intake RU-0800 K&N RU-0800 AIR FILTER, RU-0800 K&N (914UL) 5.4 UN $65.00

_|Engine Mount J-3608-1 SPRUCE 07-01131 MOUNT, ENGINE SHOCK 3.8 UN $25.16

_|Engine Mount SE-430.007 SCODA BUSHING, 914 ENGINE MOUNT SPACER UN $26.35

_|Engine Mount SE-430.007-1 SCODA BUSHING, 912 ENGINE MOUNT SPACER UN $13.87

_El;i_ne Oil EAAER1042C LOCKWOOD / FERNELL| SPORTPLUS4  |OIL CAN, 1 LITER 5.0 UN $19.28
Engine Oil 825016 ROTAX 825016 ROTAX OIL FILTER FOR 912/914/915 5.1 UN $38.25
Engine Oil MP-900.653 SCODA HOSE, 1/2" SAE100R6 OIL 5.6 MT $35.26
Engine Oil 974-647 ROTAX/LOCKWOOD OIL TANK COVER WITHOUT VENTING 3.4 UN $41.80
Engine Oil KT-2ND-OIL-RAD SCODA SECOND OIL RADIATOR INSTALL KIT (RADIATOR NOT INCLUDED) UN $357.34

_|Engine Oil SE-413.004-1 SCODA SUPPORT, ENGINE OIL RESERVOIR UN $23.40
Engine Oil MP-900.573 SCODA HOSE, 5/16" 5C6H SAE100R6 OIL MT $16.81
Engine Oil SE-413.003 SCODA SPRING, OIL HOSE INNER UN $9.19
Engine Oil S1-412.001 SPRUCE 05-00795 SILICON, BAFFLING MATERIAL (9 Feet) MT $29.25
Engine Oil 191321-85 AEROQUIP 191321-85 FITTING, 90° AEROQUIP HOSE UN $19.37
Engine Oil 4797-88 AEROQUIP 4797-8B FITTING, STRAIGHT AEROQUIP HOSE UN $3.61
Engine Oil FC5849-0808S AEROQUIP FC5849-0808S | FITTING, 45° AEROQUIP HOSE UN $3.61
Engine Valve Cover ROTAX 612260 VALVE COVER Type Il 3.4 $195.00

_LEngine Valve Cover Gaskets ROTAX 8819*20 VALVE COVER Type Il 3.4 $25.00




Miscellaneous LG4C Aircraft Spruce Quick Release Pin 31 UN $12.00
Miscellaneous SE-113.122-1 SCODA PLATE, REAR INSPECTION COVER 2.0 UN $72.48
_| Miscellaneous SE-113.142-1 SCODA SHOE, HULL AFT SUPPORT 3.8 UN $16.71
_| Miscellaneous PN-702.032 SCODA RUBBER NUT M4 DYNON INSTRUMENT PANEL 3.4 UN $2.28
Miscellaneous PN-702.020 SCODA HEX SLOTTED CASTLE NUT M6 3.1 UN $10.17
Miscellaneous PN-702.029 SCODA TWO LUG ANCHOR NUT K1000-3 3.4 UN $2.81
Miscellaneous PN-701.023 SCODA HEX CAP BOLT PARTIALLY THREADED M10X110 3.2 UN $3.87
Miscellaneous PB-510.032 SCODA WIRE CONNECTOR - FEMALE 3.6 UN $0.52
Miscellaneous PN-701.053 SCODA HEX CAP SCREWS PARTIALLY THREADED M8X50 3.2 UN $2.48
Miscellaneous PN-701.034 SCODA ALLEN SCREW 8.8 M10X40 3.2 UN $1.89
Miscellaneous PN-701.022 SCODA HEX CAP BOLT PARTIALLY THREADED M6X50 3.2 UN $0.60
Miscellaneous PN-701.072 SCODA HEX CAP SCREWS PARTIALLY THREADED M6X60 3.2 UN $1.17
Miscellaneous DIN 125 A2 M8 SCODA M8 FLAT WASHER 31 UN $0.52
Miscellaneous DIN 933 A2 M6X20 SCODA BOLT NOSE GEAR SPINDAL
Miscellaneous DIN 963 A2 M4X12 SCODA M4X12 BOLT, NOSE GEAR SIDE PLATE SCREWS 3.2 UN $0.49
Miscellaneous DIN 985 A2 M10 SCODA M10 LOCK NUT 3.1 UN $0.91
Miscellaneous PN-701.020 SCODA HEX CAP BOLT PARTIALLY THREADED M6X40 3.2 UN $0.48
Miscellaneous DIN 935 A2 M6 SCODA M6 HEX SLOTTED CASTLE NUT 31 UN $1.77
Miscellaneous DIN 985 A2 M5 SCODA M5 LOCK NUT 3.1 UN $0.22
_| Miscellaneous DIN 985 A2 M8 SCODA M8 LOCK NUT 3.1 UN $0.26
_| Miscellaneous PN-701.008 SCODA HEX CAP BOLT FULLY THREADED M6X16 3.2 UN $0.22
Miscellaneous PN-701.019 SCODA HEX CAP BOLT PARTIALLY THREADED M6X35 3.2 UN $0.43
Miscellaneous DIN 985 A2 M6 SCODA M6 LOCK NUT 31 UN $0.09
Miscellaneous DIN 94 A2 3.2X25 SCODA 3.2X25 COTTER PIN INOX 3.2 X 25 3.4 UN $0.70
_| Miscellaneous PN-703.008 SCODA LOCK WASHER 10MM 3.1 UN $0.27
_| Miscellaneous SE-114.043 SCODA LOCK NUT 3.4 UN $0.44
Miscellaneous DIN 125 A2 M6 SCODA M6 FLAT WASHER 3.1 UN $0.03
_| Miscellaneous DIN 94 A2 2.0X20 SCODA 2.0X20 COTTERPIN 2.0 X 20 34 UN $0.04
_| Miscellaneous SE-113.100 SCODA LOCK, NOSE INSPECTION DOOR UN $7.29
Miscellaneous PB-411.001 SCODA FINISHING RUBBER MT $5.08
_| Miscellaneous SE-112.021 SCODA EYE BOLT, TIE UN $4.33
_| Miscellaneous PI-113.003 SPRUCE H5000-2 FLUSH LATCH, NOSE ACCESS DOOR H5000-2 UN $51.38
_| Miscellaneous PB-510.099 SCODA MALE CONNECTOR W/CAP SET 3.6 UN $0.00
Miscellaneous PB-510.105 SCODA CONNECTOR 3.6 UN $0.00
_| Miscellaneous PB-510.106 SCODA CONNECTOR 3.6 UN $0.00
Miscellaneous PB-510.107 SCODA CONNECTOR 3.6 UN $0.00
_| Miscellaneous PB-510.108 SCODA CONNECTOR 3.6 UN $0.00
_| Miscellaneous PB-510.109 SCODA CONNECTOR PIN 3.6 UN $0.00
Miscellaneous PB-510.110 SCODA CONNECTOR PIN 3.6 UN $0.00
_| Miscellaneous PB-510.146 SCODA CONNECTOR 3.6 UN $0.00
_| Miscellaneous PB-510.147 SCODA CONNECTOR 3.6 UN $0.00
_| Miscellaneous PB-510.156 SCODA SPLICE 3.6 UN $0.00
Miscellaneous MC-900.228 TEFLON CONDUIT 5MM 5.6 UN $0.00



Engine Water SE-411.012 SCODA DEFLECTOR, WATER RADIATOR 4.4 UN $47.24
Engine Water PB-413.021-1 SCODA HOSE, RADIATOR INLET WATER 5.6 UN $25.48
Engine Water PB-413.020-1 SCODA HOSE, OVERFLOW OUTLET WATER 5.6 UN $98.37
Engine Water PB-413.005-1 SCODA HOSE, PUMP TO RADIATOR WATER 5.6 UN $16.02
Engine Water PB-413.005 SCODA HOSE, PUMP TO RADIATOR WATER 5.6 UN $19.51
_|Engine Water PB-413.022 SCODA HOSE, RADIATOR INLET WATER 5.6 UN $5.88
_|Engine Water MP-900.678 SCODA HOSE, 6 X 2,5 CRISTAL MT $4.58
Engine Water MB-890504 MITSUBISHI SENSOR WATER TEMP PROBE 4.4 $65.00
Engine Water 922232 ROTAX BENT SOCKET 45* 43 RT $30.00
Fastener PN-720.005 SCODA CLAMP, 25-38MM 43 UN $6.71
Fastener PN-704.010 SCODA CIRCULAR COTTER PIN 3.4 UN $3.34
Fastener PN-720.025 SCODA CLAMP, 19.2 - 21.8 MM 43 UN $1.79
Fastener PN-720.020 SCODA CLAMP WITH RUBBER PROTECTION 43 UN $17.62
Fastener PN-720.018 SCODA BRACKET, OETIKER 17.0MM 43 UN $1.03
Fastener PN-720.026 SCODA CLAMP 43-47MM 43 UN $23.17
_|Fastener PN-704.016 SCODA HAIR PIN 3.4 UN $1.86
Fastener PN-701.086 SCODA SCREWS, ENGINE COWLING 3.2 UN $0.16
Fastener KT-EQ4-ELT SCODA INSTAL KIT, ACK E.04 ELT UN $315.12
Fastener PN-720.011 SCODA BRACKET, 89 TO 108MM STAINLESS STEEL UN $8.06
Fastener PN-704.011 SCODA LOCK PIN UN $5.52
Fastener PN-720.017 SCODA BRACKET, OETIKER 15.3MM UN $1.04
Fastener PN-720.015 SCODA CLAMP, SUPRENS 13.8 MM STAINLESS STEEL UN $0.68
Fastener PN-720.022 SCODA BRACKET, SUPRENS 11.9MM STAINLESS STEEL UN $0.65
Main Gear SE-311.015-1 SCODA WHEEL ONLY, MAIN LG 5.0 UN $308.98
Main Gear SE-323.006 ROD, MAIN GEAR 4.2 $435.00
Main Gear PB-311.017 SCODA BOLT/NUT, MAIN LG WHEEL 3.2 UN $25.38
Main Gear PE-323.044 SCODA SHORT STUD, RETRACTION LEVER 3.2 UN $94.84
Main Gear PE-323.070 SCODA BOLT, GAS SPRING UPPER ATTACHMENT 3.2 UN $84.83
Main Gear PI-311.025 DISSER 06-01573 TIRE, 11X4.00-5 8 ply MAIN LG WHEEL 5.0 UN $59.00
Main Gear MPB-311.076 GRANGER 6004 DDUC3 BEARING, MAIN LG WHEEL (Grainger Part 35/D09) 5.4 UN $24.00
Main Gear SE-311.003 SCODA PIN, MAIN LG LEG JOINT 4.2 UN $55.04
_|Main Gear PE-323.046 SCODA LONG STUD, RETRACTION LEVER 3.1 UN $90.55
Main Gear PI-311.027 DISSER 15-04651 INNER TUBE, MAIN LG WHEEL (DTR 20-400) 5.3 UN $16.00
Main Gear SE-323.010 SCODA PIN, SHOCK ABSORBER TO RETRACTION ROD ATTACHMENT 3.4 UN $10.21
Main Gear SE-323.009 SCODA PIN, LANDING GEAR/SHOCK ABSORBER ATTACHMENT 3.4 UN $9.01
Main Gear SE-131.045 SCODA BOLT, MAIN STRUT LOCK 3.2 UN $1.85
Main Gear SE-311.001 SCODA LEG ASSY, MAIN LG RIGHT UN $905.63
Main Gear SE-311.002 SCODA LEG ASSY, MAIN LG LEFT UN $905.63
Main Gear SE-311.019 SCODA WHEEL ASSY, MAIN LG (Tire, Bearings, Rim) UN $424.24
Main Gear SE-311.013 SCODA PLATE, MAIN LG AXLE UN $12.79
Main Gear MP-900.033 SCODA HOSE, 1/4" X 2MM CRISTAL MT $1.45
_|Nose Gear MPE-312.500 SCODA LEG ASSY, NOSE GEAR 4.0 UN $1,445.97
Nose Gear PE-312.026 SCODA LEG, NOSE GEAR 4.1 UN $697.59
Nose Gear SE-311.008 SCODA WHEEL ASSY, NOSE GEAR 5.0 UN $407.25
Nose Gear MSE-113.101 SCODA DOOR, NOSE GEAR LH 2.0 UN $292.79
Nose Gear MSE-113.102 SCODA DOOR, NOSE GEAR RH 2.0 UN $292.79
Nose Gear PI-312.004 DISSER 06-00761 INNER TUBE, 300 X 4 NOSE GEAR WHEEL (DTR 20-201) 5.2 UN $28.73
Nose Gear MPE-324.022 SCODA LINK ASSY, NOSE GEAR RETRACTION 4.2 UN $251.43
Nose Gear MSE-312.045 SCODA SPRING, PAINTED NOSE GEAR ABSORBER 4.4 UN $30.38
Nose Gear PE-312.036-2 SCODA STOP, NOSE GEAR 3.8 UN $39.78
Nose Gear PI-312.003 INNOVA TIRT3.00-4 TIRE, 10X3.00-4 NOSE GEAR WHEEL 5.0 UN $33.74
Nose Gear MPE-312.012 SCODA FORK, NOSE GEAR 4.2 UN $163.61
Nose Gear SE-113.088 SCODA SPRING, NOSE GEAR DOORS RETRACTION 4.2 UN $13.69
Nose Gear MSE-312.023 SCODA SPRING, NOSE GEAR DIRECTIONAL 4.4 UN $22.61
Nose Gear PE-312.038 SCODA PIN, NOSE GEAR TO FUSELAGE ATTACHMENT 34 UN $28.54
Nose Gear PI-312.040 GRAINGER 6302DDUC3 BEARING, 6302 NOSE GEAR WHEEL (Grainger Part 35JD60) 4.2 UN $21.50
Nose Gear PE-324.030 SCODA ROD, NOSE GEAR TRIANGLE RETRACTION 4.1 UN $86.29
Nose Gear PE-312.047 SCODA BUSHING, NOSE GEAR WHEEL 34 UN $9.21
Nose Gear PE-312.020 SCODA BUSHING, NOSE GEAR LOWER 34 UN $11.45
Nose Gear PE-312.021 SCODA BUSHING, NOSE GEAR UPPER 34 UN $13.84
Nose Gear PE-312.043C1-1 SCODA WEDGE 4.2 UN $3.95
Nose Gear SE-113.072 SCODA BOLT, NOSE INSPECTION CAP 3.2 UN $1.37
Nose Gear SE-324.055 SCODA BOLT, NOSE GEAR TRIANGLE ROD TO LEG ATTACHMENT 3.2 UN $2.63
Nose Gear PB-312.051 SCODA O-RING, NOSE GEAR ATTACHMENT PIN 31 UN $0.16
Nose Gear SE-311.026 SCODA WHLTW40B.625 | WHEEL ONLY, NOSE GEAR 5.0 UN $416.02
Nose Gear MPE-312.016-1 SCODA HINGE, NOSE GEAR UPPER 4.2 UN $254.61
Nose Gear MPE-312.015 SCODA HINGE, NOSE GEAR LOWER UN $178.37
Nose Gear SE-312.002-1 SCODA PLATE, PVC NOSE GEAR RH 4.2 UN $35.75
Nose Gear SE-312.005-1 SCODA PLATE, PVC NOSE GEAR LH 4.2 UN $35.75
Nose Gear PE-312.025 SCODA PLATE, NOSE GEAR DIRECTIONAL SPRING SUPPORT UN $29.55
Nose Gear PE-312.022-1 SCODA ATTACHMENT, NOSE GEAR ABSORBER SPRING UN $22.27
Nose Gear PE-312.013-1 SCODA PLATE, NOSE GEAR ABSORBER SPRING ATTACHMENT UN $12.32
Nose Gear PE-312.011 SCODA AXLE, NOSE GEAR WHEEL 3.2 UN $6.54
Nose Gear PE-312.014 SCODA PIN, NOSE GEAR HINGE UN $6.11
Nose Gear PE-312.043C1-1 SCODA SHIM, NOSE GEAR ABSORBER SPRING ATTACHMENT UN $4.58
_| Propeller MSE-421.003 SCODA SPINNER, PROPELLER UN $490.06
Propeller MSE-421.004 SCODA PLATE, PROPELLER SPINNER UN $192.89



Retraction SE-323.120 SCODA SHOCK ABSORBER, 32MM MAIN LG 4.0 UN $1,122.82
Retraction SE-323.120-1 SCODA SHOCK ABSORBER, 40MM MAIN LG 4.0 UN $1,539.61
Retraction SE-323.050 SCODA SPRING, RETRACTION GAS 4.0 UN $102.87
Retraction MSE-324.037-1 SCODA PULLEY, NOSE GEAR RETRACTION 4.5 UN $284.78
Retraction SE-322.015 SCODA WOOD GRIP 3.7 UN $64.94
_| Retraction SE-323.004 SCODA CABLE, MAIN GEAR RETRACTION 3.8 UN $8.98
Retraction SE-324.004 SCODA CABLE, NOSE GEAR RETRACTION 3.8 UN $12.41
Retraction PB-323.500 SCODA SENDER, MG-2604 NF E3 20A LG 3.6 UN $31.40
_|Retraction SE-322.004 SCODA J-BAR WHEEL PULLEY 4.5 UN $50.64
Retraction SE-323.007 SCODA BOLT, RETRACTION ROD 3.2 UN $11.47
_| Retraction PN-718.006 SPRUCE 05-03294 SLEEVE, 3/32" ZINC NICOPRESS 3.4 UN $0.96
Retraction PN-718.008 SPRUCE AN100C-4 THIMBLE, 3/32", 1/8" CABLE 34 UN $1.05
Retraction SE-323.069 SCODA BOLT, GAS SPRING ATTACHMENT 3.2 UN $3.59
_|Retraction SE-321.001 SCODA LOCK, LG RETRACTION LEVER (BUNGEE CORD) 2.1 UN $1.51
Retraction MC-900.392 SCODA STRIP, 10 X 5SMM SEALING RUBBER 5.2 MT $2.17
_|Retraction PE-323.038-1 SCODA ROD, UPPER TERMINAL METALIC UN $281.25
_| Retraction PI-324.041 BOSUN S0154-EE05 TURNBUCKLE, CABLE UN $12.99
_| Wing MSE-132.037 SCODA SPONSON, LOWER WING 2.0 UN $934.53
_|Wings SE-132.061 SCODA LIMITER, FUEL TANK FUELING 3.4 UN $23.48
_|Wings SE-132.026 SCODA PIN, LOWER WING FORWARD ATTACHMENT 34 UN $38.74
_|Wings SE-131.025 SCODA LOCK NUT, WING STRUT 3.1 UN $7.80
_|Wings DY-113.005 SCODA COVER, AOA PITOT TUBING 3.7 UN $13.00
_|Wings SE-133.047 SCODA BOLT, UPPER WING TO FUSELAGE ATTACHMENT 3.2 UN $9.27
_|Wings DIN-931-A2-M8x50 BOLT, UPPER WING AFT ATTACHMENT 3.2
_|Wings SE-132.027 SCODA BOLT, LOWER WING AFT ATTACHMENT 3.2 UN $6.29
_|Wings PE-131.032-2 SCODA BOLT, WING STRUT 3.2 UN $7.80
_|Wings PE-131.033 SCODA BOLT, WING STRUT 3.2 UN $6.20
_| Wings PE-131.037-2 SCODA BOLT, WING STRUT 3.2 UN $2.85
_|Wings PE-131.031 SCODA BOLT, WING STRUT 3.2 UN $2.94
_|Wings PE-131.035 SCODA BOLT, WING STRUT 3.2 UN $1.48
_| Wings SE-131.019-2 SCODA BOLT, WING STRUT 3.2 UN $2.85
_|Wings SE-610.016-2 SCODA PITOT TUBE (HOSE AND FARING INCLUDED) UN $763.58
_|Wings SE-133.010 SCODA ACRILIC, LANDING LIGHT WING UN $44.93
_|Wings SE-132.029-1 SPRUCE 05-28663 CAP W/ LOCK, WING TANK FILLER NECK UN $73.76
_|Wings SE-133.036 SCODA WINGLET, LEFT LOWER WING UN $1,080.73
_|Wings SE-133.037 SCODA WINGLET, RIGHT LOWER WING UN $1,080.73
PN-722.007 SCODA UNION T 1/4" 3.1 UN $8.80
PN-722.006 SCODA ELBOW, MALE 1/4" X 1/8" NPT 3.1 UN $4.20
PN-722.009 SCODA NUT/SLEEVE FOR NYLON HOSE 1/4 INCH (AHARS CONNECT) 3.1 $13.00
SE-131.030 SCODA LOCKNUT 3.1 UN $7.80
PN-705.012 SCODA STAINLESS STEEL POP RIVET 3.2X13 3.6 UN $1.16
PB-530.014 SCODA FITTING, 3/8 X 1/8 NPT HOLE 7MM 3.1 UN $4.60
MC-900.203 SCODA STAINLESS STEEL CABLE 1/16" 3.8 MT $7.33
PE-413.026 SCODA SUPPLEMENT 80MM 4.4 UN $6.50
SE-323.068 SCODA BUSHING 34 UN $0.00
SE-414.022 SCODA BOLT 3.2 UN $0.00




